Составление уравнений химических реакций
Расставьте коэффициенты:
	HgO = Hg + O2
Ag2O = Ag + O2
Au2O3 = Au + O2
O2 + P = P2O5
N2 + Li = Li3N
	H2 + O2 = H2O

N2 + H2 = NH3
B + F2 = BF3
CO + O2 = CO2
SO2 + O2 = SO3
	FeCl3 + Fe = FeCl2
FeCl2 + Cl2 = FeCl3
H2O + P2O5 = H3PO4
B2O3 + H2O = H3BO3
Na2O + H2O = H3PO4
	Fe + CuCl2 = Cu + FeCl2
Zn + FeBr3 = ZnBr2 + Fe
HgCl2 + Al = AlCl3 + Hg

Mg + H2O = H2 + Mg(OH)2
Fe2O3 + H2 = H2O + Fe


	PbO + Al = Al2O3 + Pb

Cr2O3 + Mg = MgO + Cr

Al + H2O = Al(OH)3 + H2
KClO3 = KCl + O2
NaNO3 = NaNO2 + O2
CaO + C = CO + CaC2
Cl2 + CS2 = CCl4 + S2Cl2
	CuOH = Cu2O + H2O

Al(OH)3 = Al2O3 + H2O

KClO = KClO3 + KCl

NH4NO3 = N2O + H2O

NH4NO2 = N2 + H2O

Al2O3 + SO3 = Al2(SO4)3
Cl2O7 + H2O = HClO4
	Mg + HCl = H2 + MgCl2
HI + O2 = I2 + H2O

Al + V2O5 = Al2O3 + V

Br2 + KI = KBr + I2
HCl  + Al = AlCl3 + H2

CaO + P2O5 = Ca3(PO4)2
NaH + H2O = NaOH + H2


	Al + WO3 = W + Al2O3
I2 + H2S = S + HI

F2 + H2O = HF + O2
FeO + CO = Fe + CO2
Fe3O4 + CO = CO2 + Fe

CaH2 + H2O = Ca(OH)2 + H2
Na2O + P2O5 = Na3PO4
	Fe2O3 + CO = Fe + CO2
Na + H2O = NaOH + H2
Na + NH3 = NaNH2 + H2
H2O + K = H2 + KOH

CaO + H2O = Ca(OH)2

CH4 +O2 = CO2 + H2O

ZnS + O2 = ZnO + SO2
	Fe + H2O = Fe3O4 + H2
H2O2 = H2O + O2
Cu(NO3)2 = CuO + NO2 + O2
N2O5 + H2O = HNO3
N2O5 + Na2O = NaNO3

Al2S3 + O2 = Al2O3 + SO2
C2H4 + O2 = CO2 + H2O


